
1. complete the following table of Bronsted - Lowry February 21st
weak acidtweakbase pairs
wa Wb weak acid
-

HF F- Hft HzOzHzOt+ f
- KAHF =CH3OtJCF#

- CHFJ
Cwb

H¥¥02HCOz- 0032
-

weak bases
-

F
-t HzO→- OH

-

THF kbf
-

=COtjffgHFJNHy3
tHE KtatF*kbt=kwT
HOU OCI -

2 . Given pkii"" = 7.46
,
calculate Kat"" & Kbo"

-

pKa = -logka
ka

= 10
- pKa = 10-7-46=3.47×10 " (Sig. figs. ' 3.5×10-8 )

k¥04 * Kbo" = Kw
Kboot

- = 2.9×10-7
3
. What is the pH of a 0.22 Oct

-

solution?
MOU

' Hz-OH-+ Hoc, Kbo"
'

= 2.88×107 =COH7fHOc# = XI
I 0.22 O O

*passed 400 Cool-3 (0.22- X)
c - X TX TX

Mk !
X
-

- 2.52×10-4
- -

E0.22-X X X Escott-3=2.52×104
potts 3.61
PH ' 10.41

Neutral bases
-

"÷. C. :÷÷.jI÷ni÷Ei÷n..
H Wb Cwa

(CH3)2MHz's GHz) NH
t what isthe pH of 0.36 M Nhut ?

Wa
H - if -Ctb I nwytthzo2Hzot@NH3knaknaFIIIbnHs.kw

H - in- CHS
CH3



poypnwtigaydghzc.org K'"a'93=4.3×10" KEY 5.6×10 " February 21st

Hzowoazcaao) tHz02Hz tttcoz
-

Ka; 4-3×10
"

Hoz
-

lag)t⇒t 0032
-

Kaz - 5.6×10
"

what is the pH Of a 0.30M Hcoz
-

solution ?

Try it as a WA . Kw=lxl
HOOS + H2O2 Hzott Coz" K"a 5.6×10'"

TM it as a W.B.

Hoz- tHz0LHzCOz + OH - K'
"boss K£403 * KbHw5 = Kw

* a BETTER weak base ! ! !
G KbHW3

-

= 2.3×10-8

What is the pH Of a 0.050MHz03501'h ?

Mttzcozt Hzo F- Hzott Hcoz
' Ka ,

-

- 4.3×10-7 "XI
I 0.050 O O 0.050 - X

c tx tx *passey 900MW! ! !
C- 0.050 - X X X

X - 1.47×10-4
solve forCHzotgcthcozJCHCOz-JCCOZZ-JPHCOH-JMHCOz.tt-1202 Hzottcozz- Ka,

-
- 5.6×10

' " =H4#YY#e→y-_5.6×10-11(44/24/1074×1)
I 1.47×10-4 1.47×10-4 O 1.47×10 - 4
C + y

400 is
sn> 400 ? . . .

YES !
E 1.47×10-4 - y 1.4%-4+4 y

↳
passes 400 Mie! ! !

[Hyo 'T
' 1.47×10-4 [Hzco39=0.050 CHLO3-3=1.47×10-4 coz"] " 5.6×10

' "

pH - 3.83 COH
-J = kwh .47×10-4=6.8×10' "


